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I 12 mwn: range of N"nn-switch
a  Works: flock <->herd; goats<->lambs; male<->female;
i Source: nnnaa nnna (v. 1)
b  And: onmn <->pninHya
i Source (for n”v3): v. 1 —"y11 230" refers to W that were sanctified before becoming n”ya
1 Explanation (»an): could have said 12 210 W 2102 »9; additional "2102” - only if w1pn was before mn (11p’yn 210)
2 Explanation (X¥37): both "210” are extra; 1 — for swapping “up”; other — only 1p>yn 210
(a) Challenge (»an): this is v'p — if swapping “up” is a violation, then 2102 210 certainly is
(b) Defense (X37): P10 10 POY PR
(i) Save (72n): this is not 10 10 — if something is 210, it is inherently superior to »
C K772 1991 RY refers to others” animals; 1mR 9797 891 — refers to his own
i Justification: if only 1991 R, we would think that if he made both wT1p, no man = yMr 0’ RY is also forbidden
ii  Question: what is D InR Ywa?
1 Cannot be: his w1pn that he is “expanding” to others” animal — 159 1R 927 W*TpN DIR PR (V. 2)
2 Must be: his pon, attaching to anothers” w1pn
(a) Proviso: only if “other” declared that anyone may use his animals as an index for n7mn
II 22 mwn: continuation of range of nMN-switch — quantity
a  p’m can swap 1 for many or many for 1
b »”%: only one-to-one, per "Rin” (v. 1)
i An72x W™ argues, using nnnaa nnna, that it doesn’t state mnnaa nnna - only one-to-one
ii ~ Counter: v.3 — nnnais also a collective term
1 Defense (for ©”): they are called 111 nnna, but not unqualified "nnna”
2 Challenge: in mwn, v" based his argument on "®¥n”, not the singular nnna
3 Answer:w™’s source is "R1n”; when he heard 1127 using nnna to allow for multiple, argued from nnna as well
III  Discussion about the ability to re-use index animal for n7mn — "Pnm Panm pnn”
a 5”1 even W™ agrees that a single animal may be reused for nmnn; nnnaa nnna only limits simultaneous multiple use
i Support: Rm1 - like multiple m1nn, repeated nnn is invalid
b v 71w holds his ground even in case of Pvnm PInm Pnn (just as 1 animal can only generate for 1 animal)
i Support: Rm1 — unlike multiple mMnn, repeated NN works, per MM RIN PM
it Query (pax 77): to 1INy "7 according to W™ (PHM PINN PR)
1  If: he set aside an nwr (“a”) for n193, was nn from it (to “b”), “a” got a mn and he replaced it (with “c”)
which got lost and he offered up “d”, then “c” was found and become directed to N5y (15»1 12 1795M1v DWYR)
(a) Question: could he use “c” for nmn
(b) Challenge (»72a5): what is his essential question?
(i) If: heis asking if two separate bodies with same nw11p — no need for “c” to get lost (>no need for “d”)
(if) If: he is asking if 2 separate mwYTp in one animal — no need for “c” (< no need for D)
(iii) Answer: he was asking both:
1. If: 2 animals with 1 nwyTp cannot be re-used for nnn, what if there are 2 separate mw1Tp? N
iii ~Alternate: version of IR "1’s query to 13y "1 according to W™ (PN PININ PR)
1 If: he set aside an nwR (“a”) for N193, was nn from it (to “b”), “a” got a mn and he replaced it (with “c”), if he is
nn from “c” is it valid; and if “c” got lost, he brought “d” instead and “c” becomes n%y — can “c” be 1n?
(a) Challenge (»ax): what is his essential question? (as per above)
(b) Answer: par "1 was asking one, leading into another (as per above)
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¢ Alternate background to pan *7's question: "2 ruled that only original wTpn pays wmn for 11719, not replacement
i 9779"17s source — v. 4 puts wmin on the v1pn (only)
ii ~ paw 1 if he set aside an nwWr (“a”) for N193, “a” got a b and he added wmn to redeem and replaced it (with “b”)
which got lost and he offered up “c”, then “b” was found and become directed to n%p (V9y1 12 1199MWY DVWR)
Query: does he pay another wnn (if N9 becomes n”ya and he redeems it)?
Challenge (»2x): what is he asking?
If: he’s asking whether a 2"d animal with same nw1Tp needs wmn — no need for “b” to get lost
And if: he’s asking whether the same animal with new nw1Tp needs wmn — no need for “a” to get o
Answer: paRr "1 is asking one, then the other — as per above
iii ~ Alternate version: of 8"’s question: if he set aside an nWr (“a”) for n19, it got a 1 and he redeemed it (with wmn) and
replaced it (“b”) then “b” got lost and he used “c” for ma3, then “b” was found and it becomes n%, but then is n"ya
1 Query: does he pay another wmn when redeeming “b”?
2 Challenge (»a8): what is he asking?
(a) If: anew nw1Tp in the same body — no need for “a” to get on
(b) If: anew body with same nv1Tp —no need for “b” to get lost etc.
(c) Answer: he is asking one after the other
(i) If he doesn’t add wmn when it is the same nWV1Tp (new animal)
(if) Then: what if it is a different nwyIp in same body —1p'n
IV xnn11m7’s 2 questions about ownership of 129 (W>7pn vs. 193nn) and R17's answers
a  wom wrpn alone adds wmin, per v. 4
b 77900 must be 19501
i Argument: else 1% and partners could make n1nn (if appointed by Max to designate j27p)
ii ~ And:y9inre:v.5—whichis odd, as 71 doesn’t have allowance for poverty (17 2vn)
1  Rather: 1329p — which he sets aside; v »wn 7wR — which others set aside for him
2 Must be: for nmnn — (obviously not for purposes of 193, as he clearly gets n193 either way)
(a) Proving: that 793m0 is “owner” vis-a-vis n7nn
3 Rejection: could be that o™nR 1> w»an is for N193; 8”70 he has to provide his own - 5"np
iii ~ Conclusion: per any "1 —
1 wwim always added by v1pn
2 amps: only by q23mn
3 rvan v 5y 15wp b gets to choose to whom to give ("nRin n2w”) — per v. 6
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